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Optimization on initialization

ORIGINAL SEQUENTIAL CODE OPTIMIZED CODE ON DEVICE

init_array( nx, ny,
DATA TYPE POLYBENCH 2D(A, NX, NY, nx, ny),
DATA TYPE POLYBENCH 1D(x, NY, ny))

1 =8; 1< ny; i++

i] =i * M PI;

i =0; 1< nx; i++
for (j = @; j < ny; j++

A[i][j] = ((DATA TYPE)iI * (j + 1)) / nx;




Optimization on kernel atax

ORIGINAL SEQUENTIAL CODE OPTIMIZED CODE ON DEVICE




What's the speedup?

* The optimized version takes 0,538 seconds to execute all the
program

. old time 0,278
*So, the speedup is — =
new time 1,89

= 6,79

* Where do we achieve this speedup?

T




Profiling

°Is it better to optimize the initialization or the kernel atax function?
* Obviously both

*Blablabla su dove c’e piu speedup blablabla




Experiments on other datasets
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*Speedups written in red are slowdowns




OpenMP vs CUDA

For mini dataset there is no best option than sequential code; OpenMP has only less slowdown




Thanks for the attention!




